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Mohit.. 22 hours ago

Thank-you Sir for this very Amazing and Wonderful Class Session of today’s..

And
My Answer For today's homework is-
Option A== 400...

Read more

5 CF  Reply

v View reply from Mahendras : Online Videos For Govt. Exams

Nishtha Shukla 22 hours ago
homework Answer

40
Thanku so much sir
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Bipul vishwakarma 21 hours ago

Home work Option A ==== 400 ans
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Bhavya thakur . 22 hours ago
400
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Surbhi Sinha 23 hours ago

Q=15, option Aaaaa
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confirm lock ¢ 400 &;

Zikra Yasmeen 12 hours ago

Option A
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sandeep yadav 22 hours ago
400
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Q:-Hw- A man sells a typewriter at a loss of 5%. If he sells it at Rs. 80
more he will get a profit of 15% find the cost price of the typewriter ?

34T:- Ueh SATTHT 5% <h! BT U TIEUNTZEX OelaT 3| Tie I8 3 80 TUH 3feres §
AT & AT 15% T AT FHERTT 2 ZT3uNrger Sl @RI o T ST 2

A. 400
B. 500
c. 600

p. 800
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Q:-1- A vendor sells a coconut at Rs 24 and suffers 24% loss. If he wants
to make 14% profit, then at what price (in Rs) should he sell?
34T:- Ueh Tkt TR Y 24 TUY U A=(AT & At 24% hi A 2T 31 afe a8
14% T ITH AT TITEdT 2, df 39 fohe shIAd WX (G0 /) ST T1ieu?

A. 32
B. 30
c. 36

D. 28
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Q:-2- By selling a tape - recorder for ¥ 1040 a man gains 4% . If he sells if
for £ 950 , his loss % will be

34T:- Ueh U FRTST T 1040 T T T UX Teh ATSHT ST 4%, T Tirerar 81 afe o
950 T ST &, AT IHh! T TTAIT T hITeTT?

A. 5%
B. 4%
c. 4.5%

D. 9%
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Q:-3- A profit of 12% is made when a mobile phone is sold at Rs. P and
there is 4% loss when is sold at Rs. Q then find Q : P?
3TT:- 12% T ATH dd BT ¢ 9 Ueh HIGTST Wi P O =T 9T € 3T AT Q W
STIT ATAT & T 4% BT Bidl 8, A7 Q: P hT SATUTA AT hi?

A. 6:7
B. 7:6
c. 4:5

D. 5:4
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Q:-4- The cost of manufacturing an article is made up of materials,
labour and overheads in the ratio 4 : 3 : 2. If the cost of labour is Rs.45, find

the profit percent if the article is sold for Rs.180 ?

3qT:- Tk A1 oh THHT0T ST &0 4: 3: 2 o FATUTA | AT, 9 3R S0l T o
FAAT Bl ATS A hl AT 45 TUX B, AT ATH (9T ATA R A(S I Rl 180 T
o T ATATE 2

A. 25%
B. 33.33%
c. 20%

p. 30%
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Q:-5- A digital dairy is sold an article for Rs. 935 at a profit of 10%.
What would have been the actual profit or loss on it , if it had been sold for
Rs. 810?

T feRteet Sl Uk o &t 935 T4 H 10% ok ATH W I g1 TH W
FTEATreh ST AT BT 9T R, AT W 810 T W T ATAT 2

A. 30 profit
B. 30 loss
c. 40 profit

D. 40 loss
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Q:-6- A digital dairy is sold an article for Rs. 935 at a profit of 10%.
What would have been the actual profit or loss on it , if it had been sold for
Rs. 810?

T feRreet 2adt ek a5 ol 935 §UI § 10% ok ST W AT ¢l 36 W AT TR
T T g1 o1 BT, Iie 36 810 9 H 9T ATAT 2

A. 30 profit
B. 30 loss
c. 40 profit

D. 40 loss
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Q:-7- A man buys a toy for Rs 25 and sells it for Rs 30. Find her gain

percent ?

Teh STTEHT Ueh AT 25 TUA W WHIEAT & AR 3 30 TUA W AT gl SHhT T
TTd9Td 31T Shi?

A. 30 %
B. 20 %
c. 25%

D. 5%
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Q:-8- By selling 12 toffees for a rupee, a man loses 20%. How many for a

rupees should he sell to get a gain of 20% ?

Teh SUY H 12 SR S U Ueh 4 <h okl 20% hT BT BT 21 20% h T
TTH i ok [oTU 3W Ueh HUY H Tehad ST TR 0?
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Q:-9- Cost price of 60 books is equal to the selling price of 40 books. The

gain percentage or loss percentage is:

60 TERT <hT ShaT T 40 JEaehi oh fIsha Hed o SRTER B @19 Sferre 4t i
afereTa 82

A. 50 % profit
B. 50 % loss
c. 25 % profit

D. 25 % loss
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Q:-10- Suresh sold his watch at 10% loss. If he had sold it for Rs. 45 more,

he would have made 5% profit. The selling price (in Rs.) of watch was ?

LT AT TS 10% BT W) =) Af a8 T/ 45 TOA ATereh | Sordr, at 36 5%
RT STTH AT T2t Rt forsha Jedr (8. /) AT 2

A. 250
B. 270
c. 300

R
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Q:-11- At a petrol pump the operator gives 5% less petrol at the cost
price. What is his profit %?

T UgIeT U UX 3TN STNTA 0o UR 5% HH USTE ST §1 SHERT T % FIT 82
A. 5%

B. 5.6%

c. 5.26%

p. 4.78%
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Q:-12- A merchant bought two transistors, which together cost him Rs.480. He
sold one of them at a loss of 15% and other at a gain ot 19%. If the selling price of

both the transistors are equal, find the cost of the lower priced transistor.

3ET:- Ueh STTURI 7 Y giivteex Wi, RNeeht Shia 480 T off| 36 390 o Ueh &l
15% <hY BT UX 3T 3777 Y 19% & ST W =T ATS ST Zioree shi forshy 7o
THT &, A1 T hIHd AT T shl TN o d 7T Y ?

A. 200
B. 240
c. 250

p. 300
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Q:-13- A person sold a article at a loss of 10%. Had he bought it for 20% less
and sold it for Rs. 176 more, he would have made a profit of 40%. The cost price of

the article was-

3T:- Tk SATeH 7 10% Y BT T Tk T JT qfg 3T TH 20% HH T BT HR
TH 176 TUA STk W AT [AT 36 40% T ST TR AT T hT AN Hed T AT 2

A. 800
B. 700
c. 600

p. 500
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Q:-14- A person sold a article at a loss of 10%. Had he bought it for 20% less
and sold it for Rs. 176 more, he would have made a profit of 40%. The cost price of

the article was-

3T:- Tk SATeH 7 10% Y BT T Tk T JT qfg 3T TH 20% HH T BT HR
TH 176 TUA STk W AT [AT 36 40% T ST TR AT T hT AN Hed T AT 2

A. 800
B. 700
c. 600

p. 500
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Q:-15- A shopkeeper calculated his profit percent on the selling price which
comes out to be 30%. If it had been calculated as usual on the cost price then what

is the required percentage profit?

3qT:- Teh oA o Torshdl I UR 370 ATH AF9rd hi 0T 6T, S 30% fFehem afg
FEhHT FIRTA Hed U HITT hY AXE TUTT ShT 18 oft AT STTaveh STaeTd oTe T 82

A. 40 %
B. 42.85%
c. 50 %

D. 25 %
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Q:-16- A man calculated his profit of 20% on its selling price. Find his actual
profit percent?

IqT:-Teh SATth 31U 20% ohT oY Forshaed W@t Bl ot areaa | 3@ent o fohaq
afavra & 2

A. 40 %
B. 42.85%
c. 50%

D. 25 %
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Q:-17- Selling price of 20 articles is equal to the cost price of 25 articles. Find
the profit or loss percentage?
IET:- 20 TEGST hT FershY Ao 25 TGN & AT Hed & SaR )| at o1 AT g
Tfa9Td AT ShifeTa?

A. 20 %
B. 30%
c. 50%

D. 25 %
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Q:-18- A man bought oranges at the rate of 8 for Rs. 34 and sold them at the
rate of 12 for Rs. 57. How many oranges should be sold to earn a net profit of Rs.
45 ?

3TT:- Teh A Tth o Al 34 T Tfd § T W H @HGAT & AATI 57 S UMd 2 HT /AT
AT 21 AT 45 T T ST UT o To10 38 Tohae oy Sy 2y 2

A. 80
B. 90

c. 100
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Q:-19- A man purchased two fans for Rs.1200 each and he sold one at a loss of
S percentage and other at a profit of 10 percentage, so find the total profit % or

loss% on the whole transaction?

3aT:- Ueh SATSHT 7 27 U@ kT 1200 TUI H TWHIET 31T ITH U Teh I 5 TA9Td 21 TR/
AR TAY T 10 TFAIT o ATH WX = T, . @ e W et ATHY% qT Y% J1a
2

A. 10%
B. 5 0/0
c. 25%

pD. 20 %
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Q:-20- 13 articles were bought for ¥ 5,980 and sold for ¥ 6,656. How much was

the approximate profit percentage per article ?

13 ST % 5,980 W T T 3T Z 6,656 H <= G| UTd T SATHTA ATH Jferord
feraaT a2

A. 10%
B. 15%
c. 11 %

D. 20 %
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